Equations S6. Power-Law terms in Equations S5.

u, =v,, xU, /X,

Uss =V,3xU, /X, *

ulz),s =V, xU 55 /Xy

Uzs =Vys X(U2U23)/(X2X23)
Uy s =V, xU,/X,

Uys =V, s xU, /X,

Ug, =V3, xUy /X,

Ug, =V, xUy /X,

Ugg =Vag xUs/ X,

U?,g =V xU5/ Xy

Ugg = Vg X(U3U15)/(X3X15)
Uy, =V,, xU, /X,

Uyr =V XU, /X,

Uss = Vs xUsg/Xg

Ug, =Vg, xUg /X,

UEJ = Vg7 xU 55 /X

Ug; = V57 X(USU 23)/(X5X23)
Ugs = Vo5 xUg/X¢

Ug.; =Vg17 XUq /X

U, s =V, s xU, /X,

U7g = Vo5 xU, /X,

U?,s =V, xUs /X5

Urg =Vig ><(U7U15)/(X7X15)
U; 103 = Vg 143 XU; /X,

Ugs =Vg5 xUg /X

Ug; = Vg7 xUg /X,

Ugs = Vg1 XUg /Xy

Ug o = Va0 XUg/Xg

Ugzo = Vg0 XUg /Xy

Uggs = Vg5 XUg /Xy

Usozs6 = Vioass XUso/ X1g

Up g =Vigg xU, /Xy,

Upygq = Vigqq XU 11/X11

a —
Ujg19 = Vigig XUlB/Xl8

b _
Ujg1g = Vigig X U15/X15

u2I(.:8,19 = V18,19 X (U 18U 15 )/(x18 X15 )

Ug 1 = Vig a1 ><U18/X18
Ujgs =Vigs XU19/X19
Ujg7 = Vi XUlQ/X19

Ujg 2o = Vig 2 ><U19/X19
Uypg =V XU 20/X20

Upi1g = Var1s X U 21/X 21

Uyp 19 = Vap19 XU zz/x 22
a

Upggp = Vg1 XU 24/X 24

b _
Upg1p = Vg1 XU 25/X 25

l"154,12 = V24,12 X (U 24U 25 )/(X 24 X 25 )

Uzs 24 = V5,24 xU 5/ X 55
Uzs 6 = Vas,06 XU 25/ X 35
Ugs 27 = V5,27 XU 26/ X2
Up728 = V27,28 xU, /Xy
Uzg 20 = Vg 20 xU g/ X g
Upg 17 = Vagi7g XU 28/ Xag
Ujg 30 = Vo930 XU 29/ X9
Uz 31 = V3,31 xU g/ Xg
Usg3s = V30,33 xUg /X g
Usizp = Va3 xUg [ Xg
U314 = V3134 xUg /Xy
Usz35 = Va3 xUg, /X
Usz37 = Vao37 xUg, /X,
Usz30 = V32,30 xUg, [ X
Uspags = Vazags XUss /X
Ugza0 = Vaz a0 XU/ X
Usga1 = Va3 X Use /X
Uss 32 = Vas a0 xU g5/ Xgs
Uss 40 = V35,40 xU g5 / X35

a _.,a
Usg37 = V3g.37 XU36/X36



Uy =Vip, XUlZ/XlZ

Uppgp =Vipag X U12/X12

a

Uy 03 = Vi 03 XUlZ/X12

Ulbz,zs = Vi 03 X (U 24/X24)

ulcz,zs =Vpp 03 X (U 12U 2 )/(Xlz X )

Ups 148 = Vio148 ¥ UlZ/X12
Uig142 = Vaa 142 xUy, /Xy,
Uig145 = Vig 145 X Uy, /Xy,

Uis 140 = Vis 144 ¥ UlS/XIS

Ugs =Vigs xU e/ Xyq
Ujgy; =Vig 7 XU/ Xyg

&) A superscript indicates deviations from the total pools.

u§6,37 = V§6,37 xU sa/x 36
Ugsa7 = Vag a7 XU 36/ X a6
Ugg g9 = Vag30 XU 36/X36
Ugg o5 = Vg5 XU 38/ Xz
Ugozs = Vag a5 XU 40/X 4
Uso,39 = V40,39 ><U40/X4o
Uizs, 38 = Vio5.38 XU 55/ X125
Uiz4,25 = Vi24,25 X Uiz /X124
Uigz13 = Vigras XU g [ Xz
Uis716 = V14716 XUy [ Xosy

V158,12 = V158,12 X U158/X158



